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. 0.53%0.6° = (0.5%0.6)> = 0.3 = 0.027
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12,16, X) = 4(3, 4, 5), X = 20, the diameter is 20.

. 122

The circle has an area of 102n = 314, the area of

the shaded region is

314 - 12X16
=314-192
=122

. lyard =3 ft
1 sq. yard = 9 sq. ft
18%x10 = 180 sq. ft = 20 sq. yard

15%20 = $300

. area =120

. (72+3)%0.35

= 24%0.35
=12x0.7
= $8.40

What is the length of inner rectangle?

20 +2x5 =30
40 - 2x5 =30
The area of the path:

40%30 - 30x20 = 1200 - 600 = 600 ft2

. 1000 + 200%x8 = 2600

2600 - 2000)+2000 = 30%

. What part of the radio sets remains unsold after
two-day sale? Itis 1 - %5 - Vax%; =

. It needs 5 pieces of casserole
Ans = 10 eggs & 15 ounces of butter

. What is the width of the outer rectangle?

Y. Therefore, %

is sold, twice as many as the remaining ones. The

number of being sold is therefore

50x2 =100

. 9X10%x10x5 = 4500

Va(1447) = 367
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6x40 = 240 (in)
1yard =3 ft = 36 in
6X36 = 216

7X36 = 252

Ans = 7 rolls (enough)

V36 X 6v6 X 9= 6X(6X3 = 108

(125% + 5%3 = ((125+5)%3 = 2512

=12

30-1-5=24

O=1

4.8

For the single digit pages, we need only one @-
sticker, that is, page 0. For double-digit pages like
X0, we need nine of @-stickers.

Ans = 10 stickers

AB = %15 =32

B:C = %:% =54

A:B:C = 15:10:8

C=24,A=45B=30

A+B =75

£ACB = 60° (alternate interior)

£ABC = 50° (alternate interior)

X = 180° - ¥2(£ABC + £ACB)

= 180° - 1/2(50° + 60°)

= 180° - 55° = 125°

a=-16, 2(12)(16) = 96

(6 - 2)x180° = 720, (720) = 120
larger(AABC) _ 16 _ AC

smaller (AEBD) “ 8 B

AC=10

C

2+3+4 =9

Note: 1, 2, 3 cannot forma triangle. Why?
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74,

75.

D
f(0) =-15

4a-3=-15

4a=-12

a=-3

25% = .25=7%

0.25X24 = %24 = 6 (hr)
y =110

X =30

X +y = 140

110°

30° 40°

40° 30°

110°

81.25%0.08

=8.125%0.8

= $6.50

81.25 + 6.50 = $87.75

C

p=4k-3

D

p=4k-3

k=3(p+3)

B

Diameter = 10v2

Radius = 5V2

Circle area = (5v/2)2m = 50
Atrea of the shaded region = 507 - 100 (cm?)
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